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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
December, 2011 

(APPLICATION ORIENTED COURSE) 

AMK-1 : MARKETING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt both Part - A and Part - B. 

PART - A 

	

1. 	Distinguish between any two of the following : 5+5 
(a) Family branding and individual branding 

(b) Product differentiation and market 
segmentation. 

(c) Uniform delivered price and F.O.B. price. 

(d) Merchant middlemen and Functional 
middlemen. 

	

2. 	Write short notes on any two of the following : 5+5 

(a) Resale price maintenance 

(b) Direct marketing 

(c) Promotion mix 

(d) Break - even - analysis 
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PART - B 

Attempt any three of the following questions : 

3. What is an organisational market ? Explain the 2+8 
features of organisational markets. 

4. What is product mix ? Explain various product 2+8 
mix and product line strategies adopted by 
marketers. 

5. Discuss the various factors you keep in mind 10 
while deciding the basic price of a product. 

6. "Channels of distribution are different for 10 
different products." Explain with reasons. 

7. What do you mean by promotion mix ? Describe 2+8 
the components of promotion mix. 

8. (a) State the requirements for segmenting a 5+5 
market. 

(b) Discuss any five packaging strategies used 
for the promotion of sales. 
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